(&% : M)

Mk £ B fF W (BESEERHKER R TE BRFHANN1TE18E 1S
TEL 055-298—4836 (N#R) 4531
$ 2 B % £ A 8 FRAFLA1E N R e K30 R Ri%EHE
1 8 ix S a 23, 308 23,120 28,947
i R Hoo s fe H304E RIZEEE iz ST K O B R B 5,817 5,771 5,628
7K K B R A O A 189, 200 187, 868 wan| | 2 % I F I
& H # B A 0 B 900 900 900) > % A % 17,489 17,347 21,318
RELERH®®NAD c 242 237 3 |wm|2 @ # m b 11,733 11,528 15,733
& R £ CA % 0.1 0.1 0.1 | m o8 ® 5 =
w3
# R £ OB % 2.9 26.3 2.1 2 R I F B
T ok ® % OB E E kn 7 7 1 | K X 0w ®M A 4,750 4,167 3,563
# om @ B & Ah  myA 703 703 703 3 % F E M R & abeo 11,575 11,502 13,214
REL B OX B m3/B 703 703 703 4 ' A M oI A d 4,986 5,752 5,089
B S R m3/% " 5| #
BAR B OX B m3/B 406 344 ool |*|5| @ 4,986 5,752 5,089
BEAE R m3/% mls & A M % e 16, 561 17,344 18,303
REWXHFHMEKE my/A 173 166 0l |5 B o®m o®w & 200 555
2 @M 8 n B kK B m3 63, 305 60, 498 60, 485 5 & % @ @ & f 16, 561 17,144 17,748
2 M A& & Kk B m3 63, 305 60, 498 60, 485 * 6 W % £ 3 d-e=g AT1,575| A 11,592 A 13,214
. REM (2my B) M 4,200 4,200 a2 |7 w %= ® 2 3 org
£ B M (10my B) M 7,500 7,500 7500 |8 s & h
# £ % # A 8 Ho. 5. 1 H. 5. 1 Ho. 5. 1 Yy WEErLOBES
. B o® M OE BB Y A 0 WEEBREXMS
# A M OE B OB YA nooB % m % i
Ry ® & = 7 EEECMETAE |
& iz £ % 100.0 100.0 000 |13 ' ® wm  ox i-j
g BEREBARE % 2.6 23.6 85 |14 mEE®As A 22,475 23,099 26, 407
WX B R AR B E % 57.8 48.9 88. 1 5% £ HBAS 14,894 14, 409 15, 867
| ma moE A B A 5 % H M breh 28,294 28,872 34,036
N I Bk B E B m 6 oK & OB E B 129, 690 112,547 94,799
R uyY 5 OA M I =1 (BREEEHKER) RS
T am # 2 B B M 91.9 95.4 93.0)
KE mo® R @M 211.7 235.8 291.2
L - 5 58 A& A 101.4 14.1 90.0)
%y 5 5% 58 A
zA m A # 5 =
e % i 7l ) 0.5 36.1 22.6
ik ) P =
% S # 28.3 29.3 35.4
| B ®m o x & = 198.7 200. 6 184.0
s W E B OB X K = 82.4 80.6 86.5
s EB % mox & 0% 83.3 78.4 16.2
. f( f TEBTAEES 366. 4 369.3 378.7
S W A& # 5 #
% ¥ 3
L x| X B A 8 81.7 72.2 63.3




(&% : M)

Silz BE7LTRAH  (BEEEHKER) FiEd | ETILTRTINEES 76
TEL 055-282—6409 (R#) 2611
$ 2 B % £ A 8 TH2E6H21E N R e K30 R RI%E
1 % iR 2 a 12, 806 13,218 14,783
R4 wE H29%E & HI0E RIEE w 5 T oKk E £ A #H 3,386 3,361 3,297
T B K 5 W A A A 71, 880 7,602 7, 3170] 5 2 I F I &
£ & FH B A =] B 660] 660 660 K 1®% A & 7,420 6, 857 11, 485
BELEBERERNAD [4 267 252 231 M| 2 % - A b 12,878 13,195 14,179
T & £ CA » 0.4 0.4 0.3 - i3 8 A 5 %
w3
T b3 £ B % 40.5 38.2 35. 0] 2 B I = %
T Kk & R E E km 6 6 6 * K b3 h Fl 2 2,196 1,875 1,541
Ho®Em oo B O N m3/8 179 179 179 3 SR a-b=c A T2 23 604
WM B X & m3/8 179 179 179 4 & X M I A d 7,849 14,618 17, 861
HEED M X B m3/% " 35 © 5,900 1,100
HERL B X & m3/8 198 198 198! * 5 1#®% 7,249 7,569 8,424
HKE M X B m3/%} M5 ' XA M X W e 7,699 15,017 18, 435
REBXBTFHOLEKE m3/8 175 175 175! ” 35 S & ® B # 450] 7,448 10,011
£ M # L B K = m3 67, 242 66, 957 64,939 5 Tt % & # & f 7,249 7,569 8,424
£ M A W K = m3 67, 242 66, 957 64,939 * 6 i b3 = El d-e=g 150 A 399 A 574
" R E M ( 20m3/ A ) =] 2,750 2,750 2,750 7 g b3 B El ctg 78 A 376 30
*% A ( 100m3/ B ) =] 8 #® i & h 2,842 1
# S )i F A =] H8. 1.1 H8. 1.1 H8. 1.1 9 MEEMORBRHB S 3,441 676 300)
" B B T B B XK A 10 MEE®RLERXEASE
E X B B B B K A 1 i3 = iR b3 i 677 300 329
Ry ® & = 7 EEECmETAE ;
£l iR x % 100.0 100.0 100. 0, 13 = = iR b3 i-j 677 300 329
& #® K WL BB M A E % 97.8 97.8 97.8 14 L EERAEER 14, 669 14, 426 19, 909
B X B & K & @ F % 110.6 110.6 110. 6] 25 E £ RN B A 2 7,441 8,295 9,965
” 1] o BA =] A 15 R H <) [ b+e+h 23,419 28,212 32,615
N —-A B ok o B 8 m3 16 A B R T B 53, 962 52,292 44, 968
R uyY O OH I M (BEEEPKER) M7ILTRH
7 HiR # £ B @ =] 50. 4] 50.2 50.8
K& DU B S i ] =] 188.7 186. 2 194. 6
g 1m3 5 b5 & X & =] 29.8 17.2
%y 5 b # 5 # M
#A B & # 5 7
i35 X h Fl =8 17.1 14.2 10.9
2 ) il - 20.7 23.7 19.6
% E3 7 - 54.5 53.6 51.5
8t # g b3 )24 x 99. 4 100. 2 104. 3
# Roo# M I X ot E 63.6 63.7 65. 4]
5 E ES iR b3 )24 x 31.7 29.7 26.1
i :j f tEBETHMEERES 278.9 281.0 302.2
S W A& # 5 #
% ¥ 3
v o= b3 #h Fl =8 64.9 55.8 46.7




(&% : M)

Silz d # W (REEBEHKER FRTEH EHTFAETARTEEO 61— 1
TEL 0551-42—1342 (R#) 1421
5 % M % % A B TR5E2A118 N FE e K0 Ri%EHE
1 % iz #* a 621,317 641,113 621,415
- R H29 4% H304F RIERE R 5 T ok & & A # 121,559 118,907 114,798
7 OB OKE & B A A A 47,452 46,912 46, 484 u 2 % I F I O#
¢ % H B A O B 19,670 19,670 19,670 > ® A & 496, 949 519, 209 503,819
RERLBERENAD ¢ 11,014 10,982 10,954 w2 % % i b 346, 167 326,945 315, 734
& R B CA % 23.2 23.4 23.6 ) B OB # 5 & 12,001 14,877 13,533
& b3 E OB % 56.0 55.8 55.7 " 2 % I T &
T ok & & B & ki 224 224 224 % K % 1 #l a 146,028 133,843 121,082
B o OB & A m3/8 5,548 5,548 5,548 3 ERE: - SR ab=c 275, 150 314,168 305, 681
BEL B OX B m3/8 5,548 5,548 5,548 4 ® A #M R A d 254,024, 240, 966 303, 270)
BEEeH M OX B m3/%} " 5 & 179, 600 170, 300 196, 400
BX B OX B m3/8 7,352 6,518 5, 506 s ® 70, 462 64, 859 96, 762
BEkE M OX B m3/%} w5 & A M X H e 532, 161 561, 623 591, 662
REBXBEFYLEKE m3/8 2,501 2,351 2,295 w3 B B8 % B B 11,540 14,657 13,725
£ M % 4 B K B m3 1,021, 691 962,088 995, 971 5 & % & @B & f 520, 621 546, 966 577,937
£ M & W ok # m3 827,313 809, 251 794, 006 * 6 R %X £ 3l d-e=g A 278,137 A 320,657 A 288,392
" X EMA (20m/ A) M 2,260 2,260 2,300 7 R % B El crg A 2,987 A 6,489 17,289
¥ B A (100m/ B ) M 16,410 16,410 16,710 8 #* b2 % h
# £ % % A 8 H26.4. 1 H26. 4. 1 H26.4. 1 9 WMEEIALOBRME 18, 346 15, 359 8,870
nat B0 B OE B B % A 2 2 2 0 WMEE®RLEAS
K B OE B OB % A 1 i E iz * i 15, 359 8,870 26,159
e B 8 % 2 ) [ EFER&EI~Z j 3,386 9,251
5 ig kS % 81.0 84.1 79.7 [EI- =1 iR * i-j 15, 359 5,484 16, 908
" 'R L OE B R OA XK % 46.7 42.4 414 14 LEEBRALES 567,411 584, 068 600, 581
B X BEBEARBRMB X % 132.5 117.5 100.9 55 £ E N8B AR 496, 949 521, 161 503,819
| ma m B A O A 5,507 5, 491 5,477 15 R " # 1 bre+h 878,328 888, 568 907, 396
: —A B ok o B 8 m3 510, 846 481,044 497, 986 6 K E R E B 6, 706, 085 6,329, 420 5,947,883
4y ® R OH I & =1 60,779,500{ 59,453, 500 57,399, 000 (BEEEHKER) Jeith
N
i Hix ¥ o& B M 146.9 146.9 144.6
3 m B R M 241.9 238.6 245.2
#
1m3 5 5 & K B M
Yy 5 b # 5 & M 14.6 18.4 17.0
%A B & # 5 & 3.5 4.6 4.3
MR % 1h 7 =) 42.2 40.9 38.3
e 3] bl % 13.5 14.9 14.2
% S % 16.6 17.5 17.4
o @ iz 53 te E: 179.5 196.1 196.8
5 PO - SR S S - 7.7 73.4 69.5
N o0 W OX KX 60.8 61.6 59.0
" = _
% | w x T ¥ ETHHEES 548.4 572.6 608. 9
i % B & #® 5 B 9.9 12.5 1.8
% ¥ 3
v ® % 1h 7l =) 120.1 112.6 105.5




(&% : M)

Hix£ B % W (BEEEFKER FifEMh | BREMEE26 1 0%
TEL 055-278—1670 (RfR) 7131
$ 2 B % £ A 8 FRAFLA1E N R e K30 R Ri%EHE
T ix E a 11,033 10, 721 16,080
i R Ho9 % Ha0ZE R RIZEEE iz ST K #E O R H 1,312 1,220 1,226
7 B E % m A O A 75,345 75,593 R 2 R I F W &
& % % ® A O B 160 160 160 > @ A % 8, 587 8, 367 11,933
RELERBK®NAD c 97 9 sl |wm|2 @ # m b 6,025 5,571 10, 781
& B £ 0N % 0.1 0.1 0.1 | m B & 5 =
w3
& B E OB % 60. 6 58. 1 53.8 g % I ¥ &
T ok B % OB E E kn 1 1 | |« > X #w ®M A 1,751 1,506 1,250
# o®m @ B & Ah  myA 2 4 1 3 % F OE M R & abeo 5,008 5,150 5,299
BAEM WX B m3/8 10 40 40 4 ' A M oI A d 956 996 1,110
B S R m3/% " 5| #
BAM WX B m3/8 35 39 w |*F|s| a 956 996 1,110
BEAE R m3/% wls & A M % e 5,893 6,138 6,394
REWXHFHDEKE myA 31 3 2 [gls] 2 8B xn & =&
2 @M & n B kK B m3 11,386 11,788 11,572 5 & % @& @ & f 5,893 6,138 6,394
= m # & Kk B m3 11,386 11,788 11,572 * 6 W % £ 3 d-e=g A 4,937 A5 142 A 5,284
. ZEMA (2m B) M 2,870, 2,870 200 |7 m % = 3l g 7 8 15
£ %@ (100 B) M 8 o & h
# £ % # A 8 Ho. 4. 1 Ho. 4. 1 Ho. 4. 1 Yy WEErLOBES 119 190 198
. BOE B OE R A H A 0 WEEBREXMS
5 A B E R A H A nooB % m % i 190 198 213
Ry ® & = 7 EEECMETAE |
& iz £ % 100.0 100.0 1000 |13 =B ® 9w % i-j 190 198 213
a| BEREBARE % 7.5 80.0 sof |14 maEE@Ass: 9,543 9,363 13,043
WX E R AR B E % 87.5 97.5 95.0) 5% £ 2 RBAS 6,510 6.510 6,423
| ma mo®m A O A 5 % H # # beesh 11,918 11,709 17,175
N I oAk M BB m 6 ® K & B E B 38,434 32,295 25,902
\ Ly 5 OA M I =1 (BREEEHKER) REH
" am B & B @ M 115.2 103.5 105.9
KE mo® R @M 475.0 41,0 929. 1
L - 5 58 A& A 99.6 96.2 105.5
By 55 # 5% @M
#m m B # 5 =
s % # 7l ) 2.1 27.0 1.6
I ) 5 # 1.1 13.1 1.5
% S # 37.6 40.7 39.2
| B ®m o= & = 183.1 192.4 149.2
s " E B OB X K % 92.6 91.6 9.6
s B %2 m o= r = 30.7 30.0 12.9
" ﬁ f TEBTAEE S 582. 6 626.6 623.5
S W A& # 5 #
% ¥ 3
e | X BB B 133.5 123.4 102.0




(&% : M)

Gilze o/ W m (BEEEHKER A it HWRHEMETHES 09 — 1
TEL 055-261—3345 (R#) 423
$ 2 B % £ A 8 ERTE6H 158 N R e K30 R RI%E
1 % g =® a 29, 310! 38,198 38,238
R4 wE H29%E & HI0E RIEE 2 5 T oKk E £ A #H 7,669 8,988 8, 966
T B K B2 WM A O A 69, 861 69, 436 68, 924 5 2 £ I F IR O#
£ * it [E3} A [m}] B 1,080 1,080 1, 080 ® % A & 21, 634 29,202 29, 267
B EWLERXREZEARAAD C 349 339 323 M| 2 % k-1 )il b 18, 240 14, 680 14,229
i1 & £ A % 0.5 0.5 0.5 - B 8 A 5 #
w3
i1 & £ OB ®» 32.3 31.4 29.9 2 F I L= #
T K & H B E E km 13 13 13 * ® * ih Fl 2 5,898 5,399 4,889
it [E3} o pi:) 3 il m3/8 292 292 292 3 R I a-b=c 11,070 23,518 24,009
BELR B X i3 m3/8 292 292 292 4 B A M I A d 14, 366 12,811 16, 280
mheh O B m3/% " 5| 2
=AML B X i3 m3/8 196 254 390 * 5 % 14, 366 6,811 11, 280
HKE m X i3 m3/% M5 B A M X H e 23, 369 29,873 32,067
HEBXBFEFETHLEKE m3/8 165 154 140] ” 35 B B4 = B -4 2,376
£ M B o B K = m3 61,826 56, 167 51, 290} 5 Tt ¥ & # & f 23, 369 23, 868 24,378
F il £l g K = m3 66, 444! 62, 307 56, 093 * 6 g *x = 5 d-e=g A 9,003 A 17,062 A 15,787
" R E A ( 2m3/ B ) =] 2,200 2,640 2,640 7 g * =1 5 ct+g 2,067 6, 456 8,222
x5 A ( 100m3/ A ) =] 9,750 11,700 11,700 8 bt i & h
# = )i =3 A =] H23.4.1 H30. 4.1 H30.4.1 9 MEEMLOBEHS 2,604 4,672 11,128
" B % 8 FE B B ¥ A 10 MEER Lt A2
X # ® OB OB ¥ A 1" i = g b3 i 4,671 11,128 19, 350
Ry ® & = n EEEEmETAE |
£l g = % 107.5 110.9 109. 4 13 = = g b3 i-j 4,671 11,128 19, 350
& #®oX o B 5 M A X % 56.5 52.7 47.9 14 L EERBRASEG 36, 000 36,013 40, 547
B XBER XE@® £ % 67.1 87.0 133.6 55 H #£ R B A £ 21, 634! 29,202 29, 267
” Ba o i A [m} A 15 R H b2} # b+e+h 41, 609 44,553 46, 296!
N —-A B oKk o B = m3 16 oA B B OE = 262, 681 238,813 214, 435
R Ly 5 OA M I =1 (BREEEHKER) HWwH
7 Hix * & B 1 = 115.4 144.3 159.8
KE o pi:) I3 1 = 300. 6 150.0 166.5
i 1m3 5 b & X B = 114.9 1.0
5y 55 @5 8 M
28 | B B # 5 =
R b3 h F B 32.3 36.8 34.4
i3 3] il k-1 15.0 19.9 20.0
% S ¥ k-1 24.7 30.7 32.3
8t % )'d * 4 = 160. 7 260. 2 268.7
# vo#® M IR X bk & 70.4 99.1 99.0
5 = * iR *x 4 = 62.2 96.9 96.0
i :‘; f tEEITHNEES 381.6 325.6 326.4
S W A& # 5 #
% ¥ 3
v o= b3 h F A 76.9 60. 1 54.5




(&% : M)

Mk £ b R F (BEEEHKIEE) FrEH RRTEIHFIR 3 0 1FH 1
TEL 055-274—8555 (R#R) 2391
5 % M % % A B RA60E4A 1B N FE e K0 Ri%EHE
1 % iz #* a 181,458 194, 482 190,076
. FE Hoosefe H30%E RIERE = 5 T ook @ £ A # 35,823 40, 311 38, 830
7 OB OKE & B A A A 30,783 30,845 31,006 u 2 R I % W O#
¢ % H B A O B 5,970 5,970 5,970 > ® A & 145,013 153,090 149,917
REQLERBEMAD ¢ 3,273 3,239 3,187 w2 % % i b 112,498 100, 394 90, 721
& R B CA % 10.6 10.5 10.3 ) B OB # 5 & 12,699 12,999 13, 205
& b3 E OB % 54.8 54.3 53.4 " 2 % I T &
T ok & # B & ki 40 40 40 % K % 1 #l a 34,873 30, 559 26,338
B o OB & A m3/8 1,366 1,366 1,366 3 ERE: - SR ab=c 68, 960 94,088 99, 355
BEL B OX B m3/8 1,054 1,054 1,054 4 ® A #M R A d 78,753 364,572 348, 843
BEEeH M X B m3/% " 5 & 4,900 146, 600 228, 60|
BX B OX B m3/8 1,215 1,215 1,215 s ® 66, 158 60, 135 5, 445
BEkE M X B m3/%} w5 # A M X M e 138,558 451,073 444,322
REBXBEFYLEKE m3/8 1,063 1,046 949 w3 B B8 % B B 12,829 321, 771 310, 639
£ M % 4 B K B m3 388, 328 381, 881 347, 476 5 & % & @B & f 125,729 129,302 133,683
£ M & W ok # m3 333, 365 331,848 329,482 * 6 R %X £ 3l d-e=g A 59,805 A 86,501 A 95,479
" X EMA (20m/ A) M 1,944 1,944 2,200 7 R %X B 3l g 9,155 7,587 3,876
¥ B A (100m/ B ) M 13,176 13,176 14, 960 8 #* b2 % h
® £ % % A 8 H25.4. 1 H25. 4. 1 H30. 5. 1 9 WMEEIALOBRME 16,520 25,675 33,263
nat B0 B OE B B % A 3 3 3 0 WMEE®RLEAS
K B OE B OB % A il % E iz * i 25,675 33,262 37,139
e B 8 % 3 3 | [ EFER&EI~Z j 16,303 15,186
5 ig E % 85.8 86.9 94.8 [EI- % iz * i-j 9,372 18,076 37,139
" 'R L E B M A K % 100.9 99.2 90.0 W HEERBRALAES 211,171 213,225 155, 362
B RXEEREABRMBE % 115.3 115.3 115.3 55 £ E N8B AR 150, 345 158, 395 155, 362
| ma m B A O A 1,091 1,080 1,062 [ " # 1 bre+h 251,056 551, 467 535, 043
: —A B ok o B 8 m3 129, 443 127,294 115,825 6 K E R E B 1,008, 466 1,025, 764 1,120, 681
4y ® R OH I & =1 11,941, 000 13,437,000 12,943,333 (BEEEHKER) SRrh
N
T am ¥ o& B ] 107.5 121.5 17.9
3 moE R ] 232.9 210.4 195. 4
#
1m3 55 & A B A
Yy 5 b # 5 & ] 38.1 39.2 40.1
%A B & # 5 & 1.3 12.9 14.6
MR % 1h # 8 31.0 30.4 29.0
’%:4 ) bl % 8.9 10.3 11.5
% S % 14.6 17.2 18.5
o | ® i £ I3 E: 161.3 193.7 209. 5
sl W OB oW oW X K E 76.2 84.7 84.7
5| B % B x & % 46.9 5.2 62.4
e _
% | w x T ¥ ETHHEES 448.3 396.6 412.1
i % B & #® 5 B 35.4 32.2 34.0
% ¥ 3
v ® % 1h # B 97.3 75.8 67.8




(&% : M)

Mk £ I = 48 BT (BESEHKESR) FRE i B\ BRI =SB IIRF9 1 790 — 3
TEL 055-272—6092 (RfR) 244
$ 2 B % £ A 8 THBE12A27H N R e K30 R Ri%EHE
1 #® i #* a 23,633 25,742 21,518
- R H20% H30%E i RIEE R 5 T ok # & B # 1,360 1,357 1,337
7 B E 8 W A O A 16,028 15,824 15,607 . ® R L E W &
2 % % @ A O B 360 360 360 > ® A & 22,273 24,385 20,181
RELBERGEAAD ¢ 119 104 102 ml2 @ # i b 11,203 9,920 8, 661
#* b3 £ A % 0.7 0.7 0.7 ) B OB # 5 &
w2
#* b3 £ OB % 33.1 28.9 28.3 g % I T B
T ok & F B E K kn 6 6 6 % K % R # B 4,010 3,782 3,542
o oM OB & A m3/8 115 115 115 3 HOFOE MR i ab=c 12, 430 15,822 12,857
B WX B m3/H 115 115 115 4 # A M I A d 10, 500! 5,500 6,021
e GRS m3/% " 501 # 5,500 5,500 6,000
BRL B X B m3/8 115 115 115 s ®
BkE GRS m3/%} w5 # A M X # e 22,868 22,076 18,835
REBXBTFHLEARE  m3y/AB 46 52 56 w|3| B8 B % B # 5,303 3,855
£ M # o B K B m3 16, 610 19,148 20,557 5 & % @ o & f 17,565 18,221 18,835
£ M & W K £ m3 16, 610 19,148 20,557 * 6 ® % = 3 d-e=g A 12,368 A 16,576 A 12,814
. RER (20m B ) M 2,540 2,540 3,250 7 ® % B 3l ctg 62 A 54 43
£H A (100m A ) M 8 i & h
# £ ® &£ A A8 Hi1.3.23 Hi1.3.23 Hi1.3.23 9 HMEENASOBRBR 1,528 1,590 836
nae # % 8 E B B N A 0 WMEESR LIRS
# A B E B B N A "noo® = i % i 1,590 836 879
Ry ® & = 7 EEEECmETAE |
A 18 %= % 100.0 100.0 100. 0| B =% B i % i 1,590 836 879
ol *® * 0 BB KR E % 40.0 45.2 487 W M EEBRALEG 22,273 24,385 20,181
WX B R KB @B R % 100.0 100.0 100. 0| 5% 2 E RSB AR 10,769 12,534 9,061
| ma m B A O A [T S ® B bre+h 34,071 31,996 27,496
: —-A 5 ok B E  m3 6 K & B E B 268, 477 255, 757 242,921
R uyY O OH I M (BEEEKIEER) ™II=HET
T am H o B @ M 81.9 70.9 65. 0|
K& n B R M@ M 752.5 628.5 604.9
L - 5 5 & & B M 319.4 308.0 355.9
5y 5 5 % 5 & M
#m W B # 5 &
(124 * 2N # A 35.8 38.1 40.9
th L) P # 12.2 14.2 16.2
% E= # 26.8 32.4 34.8
ol ® i % t %= 211.0 259.5 248 4
| W OB oM WX k% 82.2 91.5 78.3
S| B = omox K % 18.9 22.1 26. 1
- ﬁ f TEBETHEES 1,586. 4 1,621.4 1,673.7
S W A& # 5 #
% ¥ 3
v x *x #  H A 294.9 278.7 264.9




(&% : M)

Gilze B il B (BEEEHKER A it MEERENETSET7 58
TEL 0556-45—2518 (R#) 145
$ 2 B % £ A 8 EH2EIR1TH N R e K30 R RI%E
1 % g =® a 5131 4,690 3,001
R4 wE H29%E & HI0E RIEE 2 5 T oKk E £ A #H 1,876 1,690 1,727
T B K B2 WM A O A 1,080 1,043 1,018 5 2 £ I F IR O#
£ * it [E3} A [m}] B 150] 150 150} ® % A & 1,255 1,274
B EWLERXREZEARAAD C 58 57 55 M| 2 % k-1 )il b 4,307 5,226 2,390
i1 & £ A % 54 5.5 5.4 - B 8 A 5 #
w3
i1 & £ OB ®» 38.7 38.0 36.7 2 F I L= #
T K & H B E E km 1 1 1 * ® * ih Fl 2 108 89 69
it [E3} o pi:) 3 il m3/8 4 4 41 3 L FOE M M & a-b=c 824 A 536 611
BELR B X i3 m3/8 4 4 4 4 B A M I A d 424 195 2,740
®mhen m O B m3/% " 5| 2
HERL B X i3 m3/8 163 92 185 * 5 % 424 195 2,740
HKE m X i3 m3/% M5 B A M X H e 424 444 2,740
REBXETHLEKE  md/B 40 53 al [gls] 2 2 2 &8 = 2,27
£ M # L B K =2 m3 14, 483 19,158 17,231 5 Tt ¥ & # & f 424 444 463
F il £l g K = m3 14,483 19,158 17,231 * 6 g *x = 5 d-e=g A 249
" R E A ( 2m3/ B ) =] 6,000 6, 000 6,000 7 g * =1 5 ct+g 824 A 785 611
=B A (100 A) A 8 m r & h
# = )i =3 A =] H21.4.1 H21. 4.1 H21.4.1 9 MEEMLOBEHS 85 909 124
Gl BEDEEB A E A 0 mEE&LzAE
X # ® OB OB ¥ A 1" i = g b3 i 909 124 735
Ry ® & = 7 EEECmETAE |
£l g = % 100.0 100.0 100. 0 13 = = g b3 i-j 909 124 735
& #®oX o B 5 M A X % 97.6 129.3 114.6 14 L EERBRASEG 1,679 195 4,014
B XBER XE@® £ % 397.6 224. 4 451.2 55 H #£ R B A £ 119 119 267
” Ba o i A [m} A 15 R H b2} # b+e+h 4,731 5,670 5,130
N —-A B oKk o B = m3 16 A B R T B 2,119 1,676 1,213
R Ly 5 OA M I =1 (BREEEHKER) RIIET
7 Hix * & B 1 = 129.5 88.2 100. 2
KE o pi:) I3 1 = 318.4 289.7 150. 1
i 1m3 5 b & X B = 28.5 21.6 15. 4
5y 55 @5 8 M
28 | B B # 5 =
R b3 h F B 2.5 1.7 2.9
i3 3] il k-1 9.3 8.2 17.9
% S ¥ k-1 82.2 85.3 63.8
8t fa )'d * 4 = 119.1 89.7 125.6
# vo#® M IR X bk & 108.5 82.7 105.2
5 = ES iR *x 4 = 44.7 32.9 74.4
i :‘; f tEEITHNEES 28.4 31.5 30.8
S W A& # 5 #
% ¥ 3
v o= b3 #h F A 58 5.3 4.0




(&% : M)

&% 5 E B (REERIKESD FifEth | EEENSERYE 35 o0&
TEL 0556-42—4814 (R#) 13
5 % M % % A B FRIF4A1E N FE e K0 Ri%EHE
1 % iz #* a 12,527 14,106 11, 405
- R H29 4% H304F RIERE R 5 T ok & & A # 1,387 1,333 1,334
7 OB OKE & B A A A 12,156 1,737 11,314 u 2 R I % W O#
¢ % H B A O B 180 180 180) > ® A & 9,140 9,773 10,071
REQLERBEMAD ¢ 75 72 63 w2 % % i b 8,303 9,253 6,404
& R B CA % 0.6 0.6 0.6 ) B OB # 5 & 553 452 479
& b3 E OB % 4.7 40.0 35.0 " 2 % I T &
T ok B % B E R ki 2 2 2 % K % 1 #l a 1,364 1,220 1,071
B o OB & A m3/8 49 49 49 3 ERE: - SR ab=c 4,224 4,853 5,001
BEL B OX B m3/8 49 49 49 4 ® A #M R A d 485
HHEN M OX B m3/%} " 5 &
BRL B X B m3/8 26 26 26 s ® 485
BEkE M OX B m3/%} w5 % A M X o e 4,709 4,853 5,001
REBXBEFYLEKE m3/8 2% 22 21 w3 B 8 % B B
£ M % 4 B K B m3 8,675 7,752 7,515 5 & % & @B & f 4,709 4,853 5,001
£ M & W ok # m3 8,675 7,752 7,515 * 6 R %X £ 3l d-e=g A 4,224 A 4,853 A 5,001
" X EMA (20m/ A) M 3,490 3,490 3,560 7 R %X B 3l c+g
¥ B A (100m/ B ) M 8 #* b2 % h
# £ % % A 8 H29.4. 1 H29. 4. 1 H29.4. 1 9 WMEEIALOBRME
m B0 B OE B B % A 1 1 1 0 WMEE®RLEAS
K B OE B OB % A il ® E iz * i
e B 8 % 1 1 | |2 EFESREI~Z j
5 ig E: % 100. 0 100.0 100. 0| [EI- % iz * i-j
ol ® EP U I T % 49.0 44.9 42.9 W HEERALAES 9,625 9,773 10,071
B RXEEREABRMBE % 53.1 53.1 53.1 55 £ E N8B AR 6,073 6,073 6,072
| ma m B A O A 75 72 63 15 R " # 1 bre+h 13,012 14,106 11, 405
: —A B ok o B 8 m3 8,675 7,752 7,515 6 0K E R E B 41,970 37,118 32,117
4y O OH I M 1,387,000 1, 333, 000 1,334,000 (BREEEHKER) SEH
N
T am ¥ o& B M 159.9 172.0 177.5
3 moE R M 799.9 1,036.2 709. 6
g 1m3 55 & A B M
Yy 5 b # 5 & ] 63.7 58.3 63.7
%A B & # 5 & 6.7 4.9 7.5
MR % 1h # A 16.4 13.2 16.7
e B bl % 10.1 9.6 14.1
% S % 51.4 70.1 26.4
o | ® i £ t E: 150.9 152. 4 178.1
sl W OB oW oW X K E 9.3 100.0 100. 0|
5| B % B x & % 20.0 16.6 25.0
. ﬁ f T ¥ ETHHEES 437.9 455.6 455.2
i % B & #® 5 B 39.9 33.9 35.9
% ¥ 3
v ® % 1h # a 98.3 91.5 80.3




(&% : M)

Silz B AT (BESEEHKER FRE | MEEBELIIETRES2 6EHhO3
TEL 0556-22—7204 (R#) 484
$ 2 B % £ A 8 TRAEAR1E N R e K30 R RI%E
1 % iR 23 a 12,307 12,276 12,245
R4 wE H29%E & HI0E RIEE w 5 T ok & £ A #H 1,716 1,686 1,657
T BB K 5 W A A A 15, 392 15,187 14, 864 5 2 I F I O#
£ &K FH B A =] B 170 170 170 K #®% A & 10, 591 10, 590 10, 588
BELEBERERNAD [4 68 67 67 M| 2 % - A b 5,005 4,627 4,306
T & £ CA » 0.4 0.4 0.5 - i3 8 A 5 %
w3
T b3 £ B % 40.0 39.4 39. 4] 2 B I = %
T Kk & R E E km 2 2 2 * K b3 h Fl 2 2,662 2,320 1, 963
HoEm oo B O N m3/8 46 46 46 3 SR a-b=c 7,302 7,649 7,939
WM B X & m3/8 46 46 46 4 & X M I A d 3,247 666 818
BReA mOX B m3/% " 5|1
&KL B X & m3/8 179 179 179 * 5 ®% 247 666 818
HKE M X B m3/%} M| 5 & X M X W e 10, 953 8,270 8,625
REBXBFHLEKE m3/8 25 24 23 ” 35 e & o B # 3,024
£ M #® L B K =2 m3 9,148 8,772 8,547 5 Tt % & # & f 7,929 8,270 8,625
£ M A W K = m3 8,233 7,895 7,692 * 6 g b3 = El d-e=g A 17,706 A 7,604 A 1,807
" R E M ( 20m3/ A ) =] 4,530 4,530 4,620 7 g b3 B El ctg A 404 45 132
*% A ( 100m3/ B ) =] 8 #® i & h 1 1 1
# S )i T A =] H22.3.8 H22.3.8 H22.3.8 9 MEEMORBRHB S 1,374 969 1,015
" B B T B B K A 10 MEE®RLERXEASE
E X B B B B XK A 1 i3 = iR b3 i 969 1,013 1, 146]
R ® & = 7 EEEECMETAE ;
£l iR x % 90. 0] 90.0 90. 0] 13 = = iR b3 i-] 969 1,013 1, 146]
@ #® K WL BB M A E % 54.3 52.2 50. 0] 14 L EERAEER 10, 838 11, 256 11, 406
B X B & K & @ F % 389.1 389.1 389.1 25 E £ RN B A 2 10, 591 10, 590 10, 588
” A o BA =] A 15 R H R i b+e+h 15, 959 12,898 12,932
N —-A 5 ok o B 8 m3 16 A B R E B 56, 809 48,538 39,913
R uyY O OM I M (BEEEWKIER) ZT)IET
7 HiR # &£ B @ =] 208.4 213.6 215.4
K& PN B S i ] =] 284.6 292.2 304.6
g 1m3 5 b5 & X & =]
%y 5 b # 5 # M
#A B & # 5 7
i35 X h Fl =8 53.2 50.1 45. 6
2 ) il - 11.6 13.5 14.4
% E3 7 - 23.1 25.4 28.5
" # g b3 )24 x 245.9 265.3 284.4
# Roo# M W X ot E 95.2 95.2 94.7
5 B * iR b3 )24 x 73.2 73.1 70.7
i :j f tEBETHMEERES 617.2 628.1 639.0
S W A& # 5 #
% ¥ 3
v o= b3 h Fl =8 155.1 137.6 118. 5]




(&% : M)

Mk £ BN (BEEEREKESR FRTE JEEEE/NER 4 6 9 8 Fith
TEL 0428—-87—-0111 (R#)
5 % M % % A B FRIF4A1E N R e K0 Ri%EHE
1 #® i #* a 7,205 7,314 9,660
- R H20% H30%E i RIEE R 5 T ok # & B # 657 620 594
7 B E 8 W A O A 718 713 715 . 2R I F I #
2 % % @ A O B 250 250 250 > ® A & 6,548 6,694 9,066
BELBRERGAAD ¢ 52 49 48 w2 #® # i b 3,208 3,029 5,109
#* b3 £ CA % 7.2 6.9 6.7 ) B OB # 5 &
w2
#* b3 OB % 20.8 19.6 19.2 g % I T B
T oKk & H B E E kn 1 1 1 % K % R # B 1,243 1,085 857
o oM OB & A m3/8 83 83 83 3 HOFOE MR i ab=c 3,997 4,285 4,551
B WX B m3/8 83 83 83 4 # A M I A d 3,642 434 678
BiEh XK m3/%} " 501 #
BRSL WX B m3/8 76 76 106 s a 642 434 678
BkE OX K m3/%} ESH # A M X # e 7,375 4,485 5,003
BEBXBTFHQNEKE m3/8 42 43 43 w|3| B8 B % B # 3,078 320
£ M # o B K B m3 15,138 15,752 15,729 5 & % @ o & f 4,297 4,485 4,683
£ M & W K £ m3 15,138 15,752 15,729 * 6 w % £ 3 d-e=g A 3,733 A 4,051 A 4,325
. RER (20m B ) M 2,520 2,520 2,520 7 R X B 3l ctg 264 234 226
£H A (100m A ) M 8,400 8,400 8,400 8 W i & h
# £ ® &£ A A8 H22. 4.1 H22. 4.1 H22. 4.1 9 MEEHNS OBRBR 99 363 597
ﬁ # % 8 E B B N A 0 WMEESR LIRS
# A B E B B N A "noo® = i % i 363 597 823
Ry ® & = 7 EEECmETAE |
A i = % 100.0 100.0 100. 0| B =% % i % i 363 597 823
ol *® E RS- T % 50. 6 51.8 51.8 W HEEBRALEG 7,190 7,128 9,744
BXEERXBEM®E % 91.6 91.6 127.7 5% 2 E RSB AR 5,235 5,004 5,540
| ma m B A O A 1B R g # 1 bre+h 10,583 7,514 10, 112
: —-A B ok M B B ms 6 B BE R E B 25,823 21,338 16, 655
. %Y A OH R # 2| (BEEZEHKER) NEHR
T am H o B @ M 43.4 39.4 37.8
K _OB R @ M 150.0 159.3 270.3
L - 5 5 & & B M 20.1 34.0
5y 5 5 % 5 & M
%A 3 8 #H 5 -4
(124 * 1 # a 38.7 34.8 16.8
tes L) P # 21.9 23.4 14.0
% E= # 34.1 36.3 65.8
o| ® 0 % t %= 224.6 241.5 189.1
w| ™ OB oW OB X & X 96.0, 97.3 98.7
S| B = omox K % 33.4 31.4 14.0
- f( f tEBETHEES 843.2 893.5 932.7
1= %t W A& # 5 #
% ¥ 3
v x X # H A 189.2 170.2 144.3




